Darwin’s Natural Selection Case Studies

Name ___________________________________

1) There are 2 types of worms: worms that eat at night (nocturnal) and worms that eat during the day (diurnal).  The birds eat during the day and seem to be eating ONLY the diurnal worms.  The nocturnal worms are in their burrows during this time.  Due to bird predation and other factors, not all worms produced live to the age of reproduction. 

a. What worm has natural selection selected AGAINST? _________________ FOR? _______________ 

Darwin's points: Identify the points in the scenario above.
Population has heritable variation. __________________________________________________________

Struggle to survive_______________________________________________________________________

Differential Reproduction (those with better variation survive and reproduce).__________________

__________________________________________________________________________________________

How the population will change over time._______________________________________________________
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In ostriches, there are 2 types: ones that run fast and those that run 

slowly.  The fast birds can reach up to 50 miles an hour.  Jackals love to eat ostrich, and they can reach speeds of up to  35-40 miles per hour.  Due to predation and other factors, not all ostrich produced live to the age of reproduction.

a. What ostrich will natural selection select AGAINST? __________________ FOR? _______________

Darwin's points: Identify the points in the scenario above.

Population has heritable variation. __________________________________________________________

Struggle to survive________________________________________________________________________

Differential Reproduction (those with better variation survive and reproduce)___________________

__________________________________________________________________________________________

How the population will change over time._______________________________________________________

3) There are two types of rabbits: those that strictly eat grass and those that strictly eat berries and flowers.  A drought occurs one year,  and the plants have difficulty producing any extras (flowers, berries, etc.).  They can only try and keep themselves green.  Due to drought and other factors such as predation, not all rabbits produced live to the age of reproduction.  
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 Darwin's points: Identify the points in the scenario above.
Population has heritable variation. __________________________________________________________

Struggle to survive ________________________________________________________________________

Differential Reproduction (those with better variation survive and reproduce)___________________

__________________________________________________________________________________________

How the population will change over time._______________________________________________________

4) Label each of the following scenarios as an example of stabilizing, disruptive, or directional natural selection:

a) In humans, babies born with an average mass are more likely to survive than those that are smaller (likely to be less healthy) and those that are larger (present difficulty during birth process). _______________

b) In horses, over the years, those horeses with legs and body sizes on the long and larger end of the curve have been selected for, causing a shift from shorter and smaller horses to taller and  larger horses.____________

c) On a beach in Florida, the sand is a light tan color.  So, most shelled organisms on that reside on the shoreline have a light tan color as to blend in and avoid predators.  However, over time, pollution that has washed up onto shore has changed the sand color to a white and black spotted pattern.  Because of this, over time, shelled organisms with white shells or black shells have come to be more common than tan shelled organisms because they can blend in better. _____________
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5) Within one main area of the African Savanna, there are two types of giraffes, one with shorter necks and one with very long necks.



a) How does length of neck affect the giraffe’s chances for survival?



b) Say a species of insect comes through the giraffes’ habitat, wiping out all of the 



grasses and bushes, leaving only trees.  How will this affect the giraffes in the area?   



Will it affect the two types of giraffes differently?

c) Bob believes that giraffes have long necks because they have stretched their necks to try and reach food that is high in trees.  Since the parent had stretched its neck, it passed the long neck on to its offspring. a) Based on what you know about natural selection, what is wrong with Bob's argument?  b) Whose theory does this most sound like? c) Using Darwin’s theory of natural selection, explain how the giraffe’s would have acquired long necks over time.

